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1. 3²¡���IX¥§�P±(0, 1)��%§�»�1§®��Ô�y = ax2��PkØ(0, 0)�	�

�:§K¢êa�����´ .

2. �A´ü �þ�½:§P,Q��þ�Ä:§�AP+AQ = 2
√

3§K∆APQ¡È����� .

3. e¢êx, y÷vx− 3
√
x− 1 = 3

√
y − y + 2§Kx+ y����� .

4. ®�f(x) = sinx, g(x) = sin(x + β)§�|β| ≤ π§��|f(x0) − g(x0)| > 1

2
§Òkf(x0) = g(x0)§

Kβ�����´ .

5. ®���ê�{an}¥§a1 6= 0§a4a25 = 2a27§��3��êm,n¦�am+2an = a25§K
�

2

m
+

1

n

�
�

���� .

6. 3���>/�º:¥?�n�§���n�/§Tn�/�b�n�/�VÇ� .

7. o¡N�4���¥£3o¡N�	Ü§=�o¡N���¡��§�Ù§n�¡¤3²¡��¤

��»©O�8, 9, 10, 12§KTo¡N�S�¥�»� .

8. �x, y ∈ R§é?¿n ∈ N+, nx+
1

n
y ≥ 1§K(2a2 + a)x+ 2y����� £Ù¥a´�

����ê�~ê§(J�^aL«¤.

� )�K£��K�3�K, ÷©56©. )�A�Ñ©i`², y²L§½ü�Ú½¤

9.£�K÷©16©¤éuý�C :
x2

a2
+
y2

b2
= 1(a > b > 0)§c�ý���å§e�ý�l%Ç§L�:�

���ý�C�uA,Bü:£A,BØ´ý�C�º:¤§:D3ý�Cþ§�AD⊥AB§��BD�x¶!y¶
©O�uM,Nü:§¦4OMN¡È����.

10. £�K÷©20©¤¼êf : R+ → RØ´O¼ê§�é?¿�¢êx, y, zþk

f

�
3xyz

xy + yz + zx

�
=
f(x) + f(y) + f(z)

3

y²µf���¥�½�¹Ã¡õ�ØÓ��ê.

11. £�K÷©20©¤¦���λ§¦�é?¿a, b, c, x, y, z > 0Ñk

by + cz

a(y + z)
+
cz + ax

b(z + x)
+
ax+ by

c(x+ y)
≥ λ.
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